
J'ai le rock n roll pis toé - Offenbach
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Standard tuning
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Couplet
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Refrain
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Solo
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Solo 2

0

E5

0
7
9
9

0 0
5
5
7

G

0 0
5
7
7

D

2
2
0

A

3 4
2

1-3.

0

E

0
7
9
9

0 0
5
5
7

G

0 0
5
7
7

D

2
2
0

A

3
0
3

4.

2
4

B

2
4
2
4
2
4

2
4
2
4
2
4

2
4

45

full

17

E

1517

G

15 14

D

15 141514
17

A

15 17

3

17

E G D A
full

14

E

1214

G
full

12 10

D

12 101210

A

12 11

3

51

0
2
3
2

D

0
2
2
2

A

0
2
2

E

(0)

Bridge

2 2 4 5 6
5

4

7x

3
2

2

55

1 1 2 2 3 3 4 4
2 2 3 3 5 5 7 7

0

E5

0
7
9
9

0 0
5
5
7

G

0 0
5
7
7

D

2
2
0

A

3 4
2

59

0

E

0
7
9
9

0 0
5
5
7

G

0 0
5
7
7

D

2
2
0

A

3
0

3 0

E5

0
7
9
9

0 0
5
5
7

G

0 0
5
7
7

D

2
2
0

A

3 4 3

63

(3) 2 1 0
3 2 1 0


